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Question Number : 1 Question Id : 4771872907 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rakesh, a Class-IX student 1s actively involving in co-curricular activities than

curricular activities. This relates to

Options :
Inter-individual differences
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Question Number : 2 Question Id : 4771872908 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT principle of child development
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Development proceeds from general to specific responses
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Development follows the principle of interrelation
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Development proceeds in the direction of the foot to head
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Development exhibits lack of uniformity in the developmental rate of a

child



Question Number : 3 Question Id : 4771872909 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the periods of development given under List-A with stages as given

under List-B with respect to Erikson’s Psycho-Social Development Theory
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List- A List —B
ze,- A wed,- B
(Period of Development) (Stage)
(PT,0,0 BRE) (Zo3)
A} Birth to 1% years 1) Initiative Vs Guilt
wITOT 11 RIerics WL vs ST T
2
B) 6 yearsto 12 years 1) Autonomy Vs Doubt
6 m=Erle® 12 ==Frics 0 ,;05%8,8 vs FcTem
C) 3 years to 6 years 1i) Trust Vs Mistrust
3 m@roem 6 WEMTY ROWE vs UETRoWE
D) 1% years to 3 years 1v) Industry Vs Inferiority
11 2=t 3 Imene: 35 ve 2e0s
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A-1m, B-1v, C-1. D-n

1. ¢

A-wv, B-m, C-1. D-11
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A-m, B-iv, C-11, D1
3. %

A-m, B-1. C-1v. D-11



Question Number : 4 Question Id : 4771872910 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to the growth and development
of a child

Options :

Development 1s comprehensive than growth
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Growth includes quantitative aspects; development includes both
qualitative and quantitative aspects
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Question Number : 5 Question Id : 4771872911 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify the correct statements regarding the role of

heredity and environment on child development
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A) Heredity plays a role in physical development of the child
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B) Environment plays a l’GlE in the emotional and social development of the
child
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C) Development is the product of environment and heredity
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D) Learning and maturation influence development of the child
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Choose the correct one

Options :
A, C.Donly

1. ®
B.C. D only
B, C,D ==g
2. ®
A, B, C only
A B C=R%
3. ®

ABCD
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Question Number : 6 Question Id : 4771872912 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher has provided support to a student in performing mensuration
problems and has gradually withdrawn support after the student was able to

perform the problem independently. According to Vygotsky. this is
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Question Number : 7 Question Id : 4771872913 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per Kohlberg's Theory of Moral Development. in this age. the child behaves
with obedience for avoiding censure by higher authority or social systems.
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Options :
4 to 10 vears
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10 to 13 years
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3 to 8 years
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8 to 13 years
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Question Number : 8 Question Id : 4771872914 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Wechsler's Block Design Test. Picture Arrangement Test and Object Assembly

Test belong to this type of intelligence tests.
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Question Number : 9 Question Id : 4771872915 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who defined the personality as “the dynamie organization within the individual
of those psycho-physical systems that determine his unique adjustment to his

environment”.

Options :
Hillgard
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Question Number : 10 Question Id : 4771872916 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A (Class-X completed student wants to continue his study and at the same time

wants to joln work to help his family due to soclo-economic condition. The

conflict being faced by the student here 1=
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Approach-Avoidance
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Question Number : 11 Question Id : 4771872917 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements regarding the methods and approaches of Child

development
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A) Case Study Method is not applicable to an individual
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Introspection Method lacks reliability, validity and objectivity

C) Observation Method can be used to assess the behaviour of an individual

in natural conditions
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D) Experimental Method advocates the study of behaviour under completely

uncontrolled flexible conditions
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ABCD
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B, C only
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A.C.Donly

A, C.D==s
4, %

Question Number : 12 Question Id : 4771872918 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Decision making. Problem solving and Logical thinking belong to this domain
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Question Number : 13 Question Id : 4771872919 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify those that are relevant to learning

J o - 4 [ p—y [ -l - B
= BT P By ‘—'\.A'M E ﬁ -‘uczu:@-uw% T g e NI

A} Unlearning is also considered as learning
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B} Learning 1s a pr{}duct and not a process

) — e — T — ol e
SUE Wolo U2 1 =Rt moSs, &80,

C) Learning prepares an individual only for any maladjustment
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Options :

- ABCD
A, B, Donly
A B Dz=ses
2. ®
A, B. Conly
A, B, C =28,
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A. D only

A D=ms
4. v



Question Number : 14 Question Id : 4771872920 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the items in List-A with the needs they represent given under List-B
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List- A List —B
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A)  Elders support 1)  Esteem needs
&00%T Woww MU0nRE ¢ngnys
B) Social status 1) Safety needs
MTIRWE W EEE AT WNgnTe
C) Sleep 1) Love and Belonging needs
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D) Affection 1) Physical needs
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Choosze the correct one
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Ao, B, Ceawv: Dem
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A-1, B-1. C-1v, D-1m
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A-11, B-m1. C-1v, D1

A-iv, B-ni, C-1. D-11



Question Number : 15 Question Id : 4771872921 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify the correct sequence of the steps involved in
learning process
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Options :

Goal, Motive, Overcoming obstacles, Achieving desired behavipural change
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Motive, Overcoming obstacles. Achieving desired behavioural change. Goal
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Question Number : 16 Question Id : 4771872922 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the factor of learning which iz associated with Men and Material

resources
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Options :

Proper seating arrangement and peaceful environment
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Linking the recent learnings with those of the past
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The basic potential of the learner
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The level of aspiration and achievement motivation
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Question Number : 17 Question Id : 4771872923 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the theories given under List-A with the basic principles given under

List-B

=Rl EY
List- A List —B
e A =t~ B
(Theory) (Principle/Laws)
(ATR,08) (B3 /TR RRNR)
A}  Operant conditioning 1)  Learning is based on the principle of
2= 0eok LR assoclation and substitution
FUScho ATTOR Ty, Tedwroh FE TR,
LintakRnt
B) C(lassical conditioning ii) Stamping in correct responses and
AooT,tIock? WRoE stamping out of Incorrect responses
RocsnE =,8,0hndmy, SRy
w™Bs, 7, ;2 cdnds, Snchmogargt:
C) Trial and Error 11) Emphasis on perceptual
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;8808 ThoiRcpeiRedh soed Wy,

iv} Emphasis on response rather than
stimulus
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Choose the correct one
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Options :

A-in, B-1, C-11
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A-iv, B-1, C-11
2.

A-iv, B-m1, C-11
3. %



A-, B-1v, C-11

Question Number : 18 Question Id : 4771872924 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A Class-V student observed the Gardening work and plantation activity of high
school students at school. He planted flowering plants at home. The action of the

student reflects this step of social learning.

Options :
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Question Number : 19 Question Id : 4771872925 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the aspects that can be transferred from one
situation to other situation of learning.
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B) Knowledge
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D) Feelings

Choose the correct one
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Options :

ABCD
1.v¥

A, C.Donly
A,C, D=3,

2. %
B.C. D only
B.C.D ==s,
3. ®

A.B.Donly

A B.D=ms
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Question Number : 20 Question Id : 4771872926 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-VII student tried to recall the concepts of Class-VI but the concepts
learnt in Class-VII are interrupting him. This 1s due to
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Proactive inhibition
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Question Number : 21 Question Id : 4771872927 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Suggest the aspects which help individuals to improve their memorvy and

retention abilities
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D) Association of ideas

Choose the correct one
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Options :

A, B.C,D
1. ®
A. B, Conly
A, B, C =28,
2. %
A, B, D only
A, B, D &»g,
3. ¥

B.C, D only

L% B.C,D==s



Question Number : 22 Question Id : 4771872928 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The educational programmes such as Acceleration and Enrichment are to be

followed by the teacher to deal with these students
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Gifted
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Question Number : 23 Question Id : 4771872929 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this learning, Learners initiate and advance their learning by more
experienced partners
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Question Number : 24 Question Id : 4771872930 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher has to follow these steps to improve individual learning among
students

[ pp— i ! -l i o T P R . - — |
Eu'We,:?EJF_:I";R\JM Z«.Iﬁ:kwﬂ'_._ﬁ EU%GMN‘-‘R -?u..-i.pa,b-m.:u QEEUH Ei ==l ‘=' 1“‘—‘;\.- @-—1..-:5-—&... 5\.«

B} Make goals dynamic with revision at regular intervals

ACLERT TW;oeTNTY,,, Z0R TR RolN MOnYRy, §,00E, Biedh
C) Involve parents
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D) Let .Jtudentu own their progres
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Choose the correct one
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Options :
A.B. D only
A B.D=mg

1. %
A, B, Conly
A B, C ==s;
2. %
A.C.Donly
A C.D==g
3. %
ABCD
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Question Number : 25 Question Id : 4771872931 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In SQ3R method. the learner has to follow this sequence
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Options :

Survey, Question. Review, Read, Recite
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Question Number : 26 Question Id : 4771872932 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the Phases of teaching given under List-A with the associations given

under List-B

B8, -A 880kd,, BT BegRch Bednd, Bi,,-B 880k, JBoR Jopridechn
==L TAEY
List- A List—-B
(Phases) (Association)
(Zogriss) (Rom)
A) Pre-active 1)  Conducting Group activities in the
SpTF A8,0% class
gondchd,, rivos) wWecmtidngas,
Sz
B) Inter-active 1) Giving home assignments
ROWTIRE, B =R@R Acdaemindmy, AcEiyne
C) Post-active 1) Writing lesson plan
ZpeaT, A%,050 ToT Claemacihas, Witk

Options :

A, B-n, C-m
1. ®

A-1, B-1, C-11
2.

A-m, B-n, C-1

A-11, B, C-m



Question Number : 27 Question Id : 4771872933 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following strategies has less scope to promote group learning

among learners?
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Brain storming
T e T —
Dot ot o P Rt 2T
2. &
Lecture cum demonstration
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Question Number : 28 Question Id : 4771872934 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT statement among the following regarding guidance

and counselling

Options :
In directive counselling. the counsellor plays an active role in
understanding problem
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In non-directive counselling. the counsellee plays an active role
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Directive counselling is also called as client-centred-counselling
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Vocational guidance helps in  career planning and professional

development
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Question Number : 29 Question Id : 4771872935 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the learning styles given under List-A with the activities given under

List-B
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List- A List —B
2e,- A =ed,,- B
(Learning style) (Activities)
(808D 3,9) (Besmedns)
A) Visual learning 1)  Listening to tape recorders
w3 808 tem® SBErUTnYRy, BIRTT
B) Auditory learning 11) Understanding Gestures
g m=eofy0d 208 AR NeR, 9prEnGiat, s
C) Kinesthetic learning 1) Preparing models
WORTR, = 508 TRmbnYR AR E&ReEgne

Options :

A-1, B-in, C-11

1. ®

A-11, B-1. C-1m1
2.

A-1, B-11, C-11
3. %

A-m, B-n, Ca
4. %



Question Number : 30 Question Id : 4771872936 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The teacher can promote team work. leadership. conflict management and

interpersonal skills among learners in this type of learning
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Co-operative learning
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Teacher-centric learning

Language I Kannada
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Self-learning
= 050 808
3. % )
Subject-centric learning
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Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

47718797
2

Online
Mandatory
26

26

30

0

1
477187153
Yes



Question Id : 4771872937 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 33)
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Sub questions

Question Number : 31 Question Id : 4771872938 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Th3reeio 2959
Options :

T
ety 1%

Question Number : 32 Question Id : 4771872939 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 4771872940 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 477187154

Question Shuffling Allowed : Yes



Question Id : 4771872941 Question Type : COMPREHENSION

Sub Question Shuffling Allowed : Yes

Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (34 to 36)

Sub questions

Question Number : 34 Question Id : 4771872942 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 4771872943 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 4771872944 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

Sub-Section Number : 3
Sub-Section Id : 477187155
Question Shuffling Allowed : Yes

Question Number : 37 Question Id : 4771872945 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 4771872946 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 4771872947 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 4771872948 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 4771872949 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 4771872950 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 4771872951 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 4771872952 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1.«

Question Number : 45 Question Id : 4771872953 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 4771872954 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 4771872955 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 4771872956 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 4771872957 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 4771872958 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Question Number : 51 Question Id : 4771872959 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Question Number : 52 Question Id : 4771872960 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 4771872961 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 4771872962 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 4771872963 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 4771872964 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

40:60
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Question Number : 57 Question Id : 4771872965 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 4771872966 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 4771872967 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 4771872968 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id : 47718798
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187156
Question Shuffling Allowed : Yes



Question Id : 4771872969 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The International Space Station {:ISS:}I 1z a multinational initiative and the
largest single structure ever constructed by humans in space. Its main
construction was finished between 1998 and 2011, though it has continued to
evolve with new missions and experiments. The ISS has been continuously
occupled since November 2, 2000.

Rather than being owned by one country, the ISS operates as a
collaborative program involving Europe. the United States of America, Russia,
Canada, and Japan, as noted by the European Space Agency (ESA). The cost of
operating the station is approximately $3 billion annually for NASA, which
represents about one-third of its human spaceflight budget, according to the
agency's Office of the Inspector General.

As of May 2022, 258 people from 20 different nations have visited the ISS.
The United States of America with 158 individuals and Russia with 54
individuals are the leading contributors. Astronauts and research time on the
space station 1= allocated to different space agencies based on their financial and
other respurce contributions, such as modules or robotic systems.

Sub questions

Question Number : 61 Question Id : 4771872970 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Astronauts and research time on the space station are assigned to various

space agencies based on the following contribution.

Options :

social service-related
1. %

envirgnmental



financial and other resgurces
3.¢

educational

Question Number : 62 Question Id : 4771872971 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ISS has maintained a continuous human presence since the year
Options :

1. ®

2.

19098

2011

Question Number : 63 Question Id : 4771872972 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct statement about the International Space Station (ISS).
Options :
It 1s a multinational nitiative and the smallest single structure ever

constructed by humans in space.
1. ®

It is 2 multinational initiative and the largest single structure ever

constructed by humans in ocean.
2. ®

It 15 a multinational initiative and the largest single structure ever

3 constructed by humans in space.



It 1s only NASA’s nitiative and the largest single structure ever

constructed by humans in space.

Question Number : 64 Question Id : 4771872973 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage, this country has sent more astronauts to the ISS.

Options :

France
1. %

Rus=1a
2. &

Japan
3. % .

The United States of America
4. &

Question Number : 65 Question Id : 4771872974 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the European Space Agency (ESA). the ISS operates as a collaborative

program of the following.
Options :
Europe, the United States of America, Russia, Canada, and Japan

1. ¢

Europe. the United States of America, Russia, India, and Japan

2. ®

Europe. the United States of America. Germany. Canada. and Japan
3. %

Europe. the United States of America. Russia, China and Japan
4, ®

Sub-Section Number : 2



Sub-Section Id : 477187157
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 4771872975 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

brought books to the library to study together.

Choose the correct option to complete the sentence.
Options :
They, there

1. ®

There, their
2. %

Their, they

They, their
4. ¢



Question Number : 67 Question Id : 4771872976 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following two sentences.
Sentence A: She came here to studying at the college.
Sentence B: She came here to study at the college.

Choose the correct option.

Options :

Only the sentence A is correct.
1. ®

Only the sentence B is correct.

2. ¢

The sentences A and B are correct.
3. %

The sentences A and B are immcorrect.
4, ®

Question Number : 68 Question Id : 4771872977 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The passenger runs to catch the train.

Choose the option to complete the sentence.

Options :

| % fastly

quick
2. %

3 quickly

slow
4. %



Question Number : 69 Question Id : 4771872978 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The minister the prizes to the winners at the end of the function.

Complete the sentence with correct option.

Options :

gave away
1.«

gave up
2. ®

glve up
3. %

ave back
4% ©

Question Number : 70 Question Id : 4771872979 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sharath will not obey you. Talk to him politely.

Combine the two sentences.

Options :
Sharath will not obey you unless you talked to him politely.
1. ®
Sharath will not obey you unless you don’t talk to him politely.
2. ®
Sharath will obey you unless you talk to him politely.
3. %

Sharath will not obey vou unless you talls to him politely.
4. ¢

: Yes Display

: Yes Display



Question Number : 71 Question Id : 4771872980 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

My brother was driving the car.

Choose the passive voice sentence for the given sentence.

Options :

The car was been driven by my brother.
1. ®

The car was being driven by my brother.
2.¥

The car was driven by my brother.
3. %

The car had been driven by my brother.
4. %

Question Number : 72 Question Id : 4771872981 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend, ‘Please lend me yvour cyele.’
Change the sentence into indirect speech.

Options :

I requested my friend to lend him his cycle.

1. ®
I requested my friend to lend me your cycle.
2. %
” I requested my friend to lend me his cycle.
3.

My friend requested me to lend his cycle.
4. %



Question Number : 73 Question Id : 4771872982 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He offers abundant evidence that he is right.
Identify the meaning of the word ‘abundant’.

Options :

ample
v P

meagre

minimal

scant

Question Number : 74 Question Id : 4771872983 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
His knowledge of history is profound.

Identify the opposite meaning of the word ‘profound’.

Options :

- sincere
scholarly

2. %

- erudite
superficial

4. v



Question Number : 75 Question Id : 4771872984 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The study of birds iz called
Options :
anthropology.

1. #

ornithology.
2.

zoology.

mythology.
4, ®

Question Number : 76 Question Id : 4771872985 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Choose the meaning of the idiom "a dark horse’.
Options :

A wild animal
1. *

A black horse

An unknown entry
3. ¢

A front runner



Question Number : 77 Question Id : 4771872986 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify INCORRECTLY spelt word.

Options :

privilege
1. ®

maintenence
2.

exclamatory
3. %

colleague
4. %

Question Number : 78 Question Id : 4771872987 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify meaningful sentence.
Options :

Conversion of agriculture into forests land 1s weakening India’s monsoon.

1. #

Conversion of forests into monsoon land 1= weakening India’s agriculture.
2. %

Conversion of monsoons into agriculture land 1s weakening India’s forests.
3. %

Conversion of forests into agriculture land 1s weakening India’s monsoon.
4. &



Question Number : 79 Question Id : 4771872988 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining heawily yesterday,

Choose the correct option to complete the sentence.
Options :

wasn't it
1. ¢

1=n’t it

was 1t

Question Number : 80 Question Id : 4771872989 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

When no one came  to help him, he herself picked the bag.

A B C D

Options :
A



Question Number : 81 Question Id : 4771872990 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the grammatically correct sentence.
Options :

All the five man’s were very energetic and eager to perform their duty.
1. ®

All the five men were very energetic and eager to perform their duty.
2.¥

All the five mens were very energetic and eager to perform their duty.
3. %

All the five men was very energetic and eager to performed their duty.



Question Number : 82 Question Id : 4771872991 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the options to make a meaningful sentence.
P:In every country, people often

Q:the best and the most intelligent.

R:as less capable or inferior in comparison.

S:while viewing people from other countries
T:believe that they themselves are

Choose the correct option.

Options :

2.

3.

4.

B0, T.RES

P.T.Q.S.R
o

P.R.Q T.S
s

P.T.R.Q.S
®

: MCQ Option Shuffling : Yes Display



Question Number : 83 Question Id : 4771872992 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identifyv the option that uses the article ‘the’ INCORRECTLY.

Options :

He was the first man to arrive.

5 The wisdom 1s the gift of heaven.

The rose is the aweetest of all flowers.
3. %

The darkest cloud has a silver lining.
4. %

Question Number : 84 Question Id : 4771872993 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She her camera on the sofa.

Complete the sentence with correct option.

Options :

laid
1.
y % 1Y
lie
3. %



Question Number : 85 Question Id : 4771872994 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An interactive communication between two or more people 15 a/an
peop ;

Options :

story.
1. ®

conversation.

2.¥
essav.
3. % :
apeech.
4, ® ¥

Question Number : 86 Question Id : 4771872995 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best known advocate of “Spiral Curriculum’ is

Options :
Bruner
1. v

Noam Chomsky
2. %

Antony EM
3. %

Brendan J. Carroll



Question Number : 87 Question Id : 4771872996 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a primary school classroom, an English teacher should create an environment
that 1s

Options :

focused on writing and giving home assignments.

1. %
strict and following formal methods of teaching.
2. %
stimulating, inclusive, and focused on student participation.
3.4
teaching and learning that relies solely on the textbook.
4, ®

Question Number : 88 Question Id : 4771872997 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following theme is inappropriate for the English instruction at the primary
level.

Options :

Friendship and Kindness

1.

Sports and Games
2.

Home and School
3.

World Heritage and Culture



Question Number : 89 Question Id : 4771872998 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main goal in teaching the skill of speaking is to

Options :

memorize the vocabulary and reproduce.
1. ®

express oneself intelligibly. reasonably and accurately.
2. ¥

assist learners in writing without making grammatical errors.
3. %

develop reading skills through speaking activities.
4. %

Question Number : 90 Question Id : 4771872999 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about language learning.

Statement A:  Language learning needs tolerance on the part of the teacher.
Statement B:  Mistakes are natural and inevitable part of the learning
process.

Choose the correct option.
Options :

Only the statement A 18 correct.

Only the statement B 1z correct.
2. ®

The statements A and B are correct.
3. ¢

The statements A and B are incorrect.



Mathematics

Section Id : 47718799
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187158
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771873000 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rational form of 3.7 is

- —
e bl

il

3.7 |mTT o8 = 1)

Options :

37

37
99

34
99



Question Number : 92 Question Id : 4771873001 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[(—3) X (=4) X (=5) X (=6) X (=7)] =
Options :

2520

[~
h
]
=

1260

Question Number : 93 Question Id : 4771873002 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The population of a town 1s 108090. Out of which 29040 are men and 25105

are women and the remaining are children. Then the number of children 1s

=t T wERe2d; 108090. 2=Td.. 29040 ZTu=Ts wu8. 28105 =edsonth

o, svensds he. g Ho =20 el S0,
b T e T el R B T LT T V\A.-u.:‘—’ Hh--:rl-':-
Options
50845
1. ®
51045
2. % '
51845
3. %
50045



Question Number : 94 Question Id : 4771873003 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The marks got by a student in 4 subjects in an examination are 228. If the
average marks of 3 subjects i1s 56. then how many marks did the student get in

the fourth subject?

- ) - ik o, : o o e g 5 o, Z- :
R o Tty ’.-.:.:5-:5334@“ Wi, LIBF 4 DEchnTd, TERE @oEngs 228, 3 L=oLng IoED

64

Question Number : 95 Question Id : 4771873004 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following fractions is least?

L1 11

; B o 2l
3 59NT WIRW WR_ Toat sRTN?

Options :
98

100

23
25

10

11
3. ¢

57
59



Question Number : 96 Question Id : 4771873005 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If each side of a triangle 1= . rd of its perimeter, then type of the triangle 1=

Y — T o el — T o, — - i — 1 - [ s
E_':“; e G Ea':,ﬂuﬁa OGN WRCIe VT '31.5I.;JC‘.A.- G Jenl Lul _‘H c'hl.-\.u.-\u

Options :

Isosceles

Equilateral

sy e
= Rttt et ) DT
2.

Right angled



Question Number : 97 Question Id : 4771873006 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following number is divisible by 6?

- — - i -
1 29HE 0T R0 6 Dol yPohre 8,57

Question Number : 98 Question Id : 4771873007 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of millimetres in 100 Kilometres 1s

o T o T e v ot L - o
100 2CReduei3T NPU,,, E0UENRIT NG 00,

iy

Options :

1. ® 10°
2. % 10”
3. % 10°

108



Question Number : 99 Question Id : 4771873008 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of edges 1n a tetrahedron 1s

- ™ " 3
R - R R e ey
\.-i,nfu"_\.-vﬁ,_'».n.-u.l dc'&':"wr: -uc:-la.

-

Options :

: MCQ Option Shuffling : Yes Display



Question Number : 100 Question Id : 4771873009 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A 60cm long wire 1s used to form following shapes. Which of them will have

shortest side?

a sguare

— o
Lo0loo LFVE

an equilateral triangle

4. =



Question Number : 101 Question Id : 4771873010 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

38X38X38-26x26X26
38X38+38X261+26X26

Options :

1
1. ¢

[~

144

64

1728

Question Number : 102 Question Id : 4771873011 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of the cost price and the selling price 1s 8:10. The profit percent is

D g mw oE o d e ——— 7 E o E e — o oy ol ——
§u?':’u“r'-\'u\-l En.n"-- ME\& [N A T Lu».u\.- \ﬁf\.l-.fiq.'_,\?- : I3 g;?,.u.-.- #EHEL%LUH

Options :



Question Number : 103 Question Id : 4771873012 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s NOT correct?

= Fhamgndd,, cdnmgas Rche, ?

Options :

: MCQ Option Shuffling : Yes

- 15
15 tenths = —
1
2 15
15 =3, 8c ort = >
1
1. %
3025 grams = 3 kilograms 25 grams
3025 mye = 3 3Sneme 25 e
2.
Area of a rectangle 4.5m X 0.5m = area of a square with side 15cm
=20hER D74 5m % 0.5m = whchsy, Srcldim PR LA rm2r15em
3. i

0016 =16 x 1073



Question Number : 104 Question Id : 4771873013 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The place value of 0 1n 2225.106 1s

2225106 °9..0 <

Options :
Hundreds

— o, np—
Pt ot 2l L

Tenths

[\

#
il
|('i'|.
2l

Hundredths

- o
ey

4.

— o
A o B "\-ﬂ-.%
&t “

: MCQ Option Shuffling : Yes



Question Number : 105 Question Id : 4771873014 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

R 1 i ; . :
Ramu gave his sister £ th of chocolates available with him. He gave his brother

2 5 i
— rd from the remaining and left with 45 chocolates. The number of chocolates

available with Ramu at first 1s

— o - ™ — [ I 1 i - - 5 e = | o 2 — R |
ol Bm,, WY =, Wordeld® Ned | — 2o, S8, gehn éu"‘b&u‘:m_ FUSnEmned_ — N, BE
el gt ! e (T, it = -} e - 2 — ) — i S R R [T P . g |
-‘umu@{wu'\-ﬂ gu@&;ug; 48 EEE\-'EEAF |'1c‘7’uﬁasafi == ntel K s WY ol 'tvl;'.-‘__,"u-lw.-\

e
msufﬁm' e R0

Options :

| = 240
, o 180
s % 360

480



Question Number : 106 Question Id : 4771873015 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers is divisible by 2, 3. 6 and 8?

& 3UAT oIT o 0o 2, 3, 6 T, 8 BoRm AR, BT 7

Options :

24810

3.¢¥

Question Number : 107 Question Id : 4771873016 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
4 men can complete a work in 24 days. then 12 men will complete the same
work in how many days?
4 FoomTs wow FURNN, 24 BRENTD,, FRornedIusim, o0 12 FUorT

— i et e e = ey N bt -
B SURMND, Wiy, GRNTY,, JRIDF NeEeRE,37

Options :
12
1. #
2. % )
6
3. %
8



Question Number : 108 Question Id : 4771873017 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :

A square having side 35m

[ - p— - — = SIS [ W S | —
35 W o e S RobITIT BEIERLEN

1. %
5 squares having side 7m each
2o 7 Soe B3 FERs, BRolTE 5 WeiEs R
2. &
35 squares having side 1m each
2o 1 Loe WI PN, BRoRTIE 35 wEhiEs, R
3. ¢

T o, sl g — -t et 1
o § dor T3 F vl S RoBITIE T BEEE R

@l



Question Number : 109 Question Id : 4771873018 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number 3 crores 6 lakhs 4 thousands § hundred sixty-nine in numerals

can be written as

- 50 o s, T, — o | [ — — R [ e R S
3 - ] '6 \_.-f 4 o e b 8 te BURER. CWEL, -u::-.r'",_ et T -u::-.?\,_ka.r'm &N WO Rty
ok . . L

Options :

30604569
1. ¢

360400569
2. %

36004569

, % 306043069

Question Number : 110 Question Id : 4771873019 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
( 3 2 ) 3 -

Options :



Question Number : 111 Question Id : 4771873020 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. LA .
There are 72 students in a class. If the number of bovs 15 — times the number of
= g

girls, then the number of girls 1s

& o T ey, 5y gl o ey, wd ) g R e S R - —r
o b o ?2 udv.rui_a::ri e - . mvv&-uﬁu -‘u::-.-"i_ muﬁuhmu -‘M'Ca-l\-,_'n.!.u — o

Question Number : 112 Question Id : 4771873021 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of points present on a straight line are

- - :\.3.-_—' > — . — >
mel TeiSohU Tl

Options :

0
] ®

>
2. %
3. %



Question Number : 113 Question Id : 4771873022 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1= an even integer when N iz an odd integer?

dn? 8

Question Number : 114 Question Id : 4771873023 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If sum of prime numbers less than 25 1s A and mean of odd numbers less than

: A
10 18 B, then S

- i ™, i - — - - -y o — - S Eb et
BT Tsm PR, A, NY e, A Sho 0 =ods. 10 .08 8o mUum WA

8]
(4]
[« &)
L8 ]
[
e 11

: A
Scs8:nY 30250 B =AT .0 = =

| ]
Ja

18



Question Number : 115 Question Id : 4771873024 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the nature of mathematies?

— — — - P — 3 - — e —_— i R e .-
ORI, T ghRgned STt WU, mowofl D=ORE.BT

- T S

&l

Options :

It involves abstract thinking and logical reasoning.

5y BThaEr BogR TEs, S0 SoarsSclhin, WERRBTE. .
1. ¢

It 12 limated to solving routine classroom problems.

g P

T BFAE,;T IonSeh I NN, BOROIHTE, AedkTnT
2. ®

It iz exclusively concerned with principles

oo B nER g S0wepAT,

3. %

It 1z a language used only in art and engineering.

G
¢!

e 3 s e o ol o i) ] -
et B3, WoRAOLOOTRYU,,, TRT, WFAT PRREIAT.



Question Number : 116 Question Id : 4771873025 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a child is consistently struggling to count beyond 20, what should a primary

mathematics teacher do first?

(ol
.
i

LoT TNty ~ATosTmah 20 2.0

e e, — & e
BB CoI ..-.-\.-C bt L?:u?

Options :
Doing challenging addition problems.
?:"‘_—W?'T\-l Segon = - —_—

- | o - - —
P G 1 e gl -‘\JE:I'I#E"'_'l\.ﬂ.-:“L 2 Lﬁu%w-«_

Reciting the numbers.

3 - ¢ v, -
) ® RoDyNieRs EOITT:,

Conduct of daily tests.

2 el e R - S e L 5
4 o TOORCET TILASEC weddnods arddoh FIunda, weEgaTns.



Question Number : 117 Question Id : 4771873026 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A rubric is:

— T

o
=t
Options :
A standardized test prepared by the experts.

& ) .

— — - o —

EEFEapianl = ZOrE |
Sk,

—

S A

—
e

@l
h L]
I:-Cl

H |

ot
[T
1% 0F =

A multiplication and division trick to answer within seconds.

o e o 2 - —ne - o — !
SB0REINTY | GUE DROS NaFEeTal s, oM E0 20

I[‘l:ul
il

o .

A scoring guide that provides criteria for assessment.

!
]

—— — — N — T P e N —
JENT T RN Sy, WAwte WoENY ianNlmar,

R4 E

A graphing tool to solve algebraic equations and algebraie problems.

I —_ [ Y [ PR [ S e R R o R R I | < ppp—— T
LPWNONEN RELCFOLNYs TSy, WekNEER AzuaNYne, ZOE0AWS My &S



Question Number : 118 Question Id : 4771873027 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the features of mathematies listed in A with their corresponding actions

in B.:

£l el
é:zcc"ﬁ%_:
A B
Al Creativity 1) Breaks down problems logically
RIS REANER, S2ErFmon Lylaee. O
B) Analytical Thinking 11) In-depth content 1~1110*ﬁ'1&dgﬁ
LI cEEOE, F tdosSR UYmE QWL BN
C) Communication i) Use innovative methods
Selovi=ty TR QFORNTR, WEA
D) Conceptual Understanding  iv) Explaining mathematical ideas
EEE&LH.E? LN redsm SwecngRh, DWORFT:

Options :
A-1, B-1v, C-111, D-n

A-ni, B-1, C-11. D-av

A-m. B-1. C-1v. D-11
3.¢¥

A-1v, B-1. C-m1. D-n



Question Number : 119 Question Id : 4771873028 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The instructional objectives are:

Options :

— O ] — sy R . e
| SONSCo0 WREDRN S8l ACLI0IAT,

Achievable in the long term.

—— T e o, (),
Semrmfohd | BEuEam,

More abstract.

% ﬁ?:é;i_-
3. )

EBEIwR

@l

Not measurable.

D B e, -
wlchonimgio,,..

: MCQ Option Shuffling : Yes



Question Number : 120 Question Id : 4771873029 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher asks students to guess, 'If a square piece of paper is cut diagonally,

what shapes will be formed?"

o™,

A — T e e = - o < x
Ll SEE0L LI BFMTRS, R&IWS éfe,a_,dr 20000 WRT INST SweBERs,
o . I E

gricrodhmon 82.0A4TC, oln® @HUnth TeENeT, 8"
A Two rectangles

wWORs BENTo
B) Two circles

WOTs W, E.NF0
C) Two triangles

WO &2meRnsh
D) One triangle

-_— O —
Wols &3 meR

This question relates to this

B =3 0% = 3, 8008 TREERE
1 Sho

Options :
Connections
ROWTITIES

1. ®
Visualisation
-— R = i,
T2 fub.h'.t,

2. YR
Problem solving
ATk, Z0=0

3. %
Reasoning and proof
SodrEE TS, mOom

4. %

academic standard.

noe

- =3
AT san-uw_

-
=L

Environmental Studies

Section Id :
Section Number :

477187100
5



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187159
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 4771873030 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Plants can be classified into the following categories

¥ o 3 1 e = i =
-T'ufu”?'i-"f'-_-_'uu,. & BYAR mNfMTSN mheFEbau=aie
A) herbs
BTN
B) shrubs
CHotnTaten
A
C) trees

- - —
NauﬁLw Lo =

Options :
A & B only
A& B=ng

1. *
B& C 01117.'
B& C=ng
2. %
A& C Ol‘ll}'
A& CEng
3. %

AB&C



Question Number : 122 Question Id : 4771873031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Riva often peels vegetables like carrots and cucumbers before cooking. Her
teacher advised her to use them with the peel whenever possible, as it helps
improve digestion. The food component in the peel that is likely the reason for

this adwvice 1s:

el . g — ] — — - e e gt — - | — — o [
G0 V&N TEm mATUo 0T sy, i plewblevelot: -~ SOTONYEL, AT
B _— - s, i _.-\F.l.c.-_.., e ,‘Ha_'- o — — 2 Ei_.- N ——
-u-.f'w_JMu'\.-a,_..b.J A et wam 1 e e 1 @% 1'\:’5‘”‘": A TStk il [ e L @"‘w\r' SETOY &Aoo
[y - o - — o - = I - — — - - R - | B R — - |
~ERE0L, DIcWT Wo  Weerr 'E_-'/Ow:.u':\.-un_ SLEeDRLr ATO0h mREER. & ALEn
— S DR P T S S | p— s p——
Te U:‘Ehaﬁuvh i CooC) Oois Eoa0 Bo3a0ials

Options :
Protein
—

w
ma e =0
el

1% %

=i
O

Fiber

== g e
&, W0

2.¥

Fat

BRI
- {rh‘\-"\-l'\-__h



Question Number : 123 Question Id : 4771873032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement about hermaphroditism.

_— - = - . e 5 g o - ]
=T %E‘;{ﬁw-—uz Wi, 200IRT =eYsolons, MuTodA,

=

Options :

Hermaphrodites can only reproduce asexually.

Ew.miffbgffégif {-r’ ---'.' HIF‘IEwL-ﬁ '.rm.lcEi-;, ::E‘dﬂfgi'&_ [P E?.JE»-E.;
1. ®
All animals are hermaphrodites by nature
- R, TN B 4PWS: SRIFRREE, .
Hermaphrodites possess both male and female reproductive organs.
WIRFRR R, ETNES Mo TEs, B, IoBRReE 8, Yonnews, Bweda
3.¢¥

Hermaphroditism occurs only in plants.

...-_.r.._._ — e BT T - — — o, e,
ZETergRcRilac AR NTY,, RS, FoRITIE,



Question Number : 124 Question Id : 4771873033 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary purpose of rearing the Kangayam bullock 1s:
Foricdio 2903 Reedolhns, MERTT Ty,PL0T YVT 3

Options :

Racing
=T —
A 0T
1. ®
Milk production
T YUT_ TN
2. ®

Drought work

-
o il e
Wool production

nd o i g g
5.."‘...‘ £ E-ﬁu'e-b_ + el Pl

4. % -

: Yes



Question Number : 125 Question Id : 4771873034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the device commonly uzed in industrial chimneys to reduce air
pollution by removing particulate matter from flue gases from the following

— o [, | — o -} — - FE R S [ e e o — —
ak,':',.\_,_ & "\.'UNH‘I:"SI.-\.! EFT_, |“f':\-ru Eﬁ:cm‘buch [l ‘E [T, St ) e T D) ﬂﬁ-"m}.- Qn.i\.-'_g\.-ﬂ-s_;u

i

S D ) o i i, sl - SPUC T R [ T M B
fﬂrm'ﬁ'u ! CARGadd bl T g 1 et L '_'\.--."m.fbh En.-‘:’.-u ] NLL;.!N“‘WN-J

Options :

1.

(Gas turbine

?'E‘.:'ﬁu_? EEEEQF:T:
k3

Electrostatic precipitator

—
begl

£

— [ o % -
SEm,, tAD, 3T B Adtdetd

2. o = L

Heat exchanger

d
|

3

¥

]

l-
g
£l

el



Question Number : 126 Question Id : 4771873035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Testing for the presence of starch in a food item should be done on:

D s g, mpg? g mpt 7 [ Ep— — T - -y — [ I - S g R [P O — = e
H=l EeREral,, @, NUEA,S0hn, DO R0 | EENEENTRY, Hoo@Eiaeso:
e & { L
A Cooked food
ﬁ.i-t.._'r,q — g s,
ot el P o) e D0

ChGDSE‘ the correct answer

=80 o oolms . =Dy
Al b e WS Tt T A

Options :

A only

[ m——
A TIUE

1. ®
B only
2. % i
Both A& B
A& B adt@e
3.+

Neither A nor B

L % A u3= Buwo,



Question Number : 127 Question Id : 4771873036 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ribs present on each side of the human chest

Options :

13 ribs
. 13 =g, oowonisl
1.
12 ribs

R A T £
12 Mﬁﬁ&uuhungu’

2. ¢

10 ribs

10 =2, ocweries



Question Number : 128 Question Id : 4771873037 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The balance of oxvgen and carbon dioxide in the atmosphere 1z maintained

through:

s g s
ToEmOnnd , oo WRE oS, mo
[ —

B m:t‘__NHUE_.FW:

9 = — L
TSR0 PEE - ARNES
(3 Photosynthesiz — Animals
WagSRod B/ - Tyeings

Options :

A & Bonly
A & B =28,

1.¢¥
Btg?: ¥ 01113'
, « B&C®3
A& C 01113.’
A& C=ng
3. %

AB&C



Question Number : 129 Question Id : 4771873038 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following declared a ‘no drive zone' within a 2.5 km radius of the

Taj Mahal?

Options :

Archaeological Survey of India

Central Pollution Control Board

£ . ™ .
N s S T [N - S R | —, o
5'639:!‘, :Ne,'»_v'{ua NM:-—Z, s B0 o'

Supreme Court of India

— - 1
POUET Aodyro TRCES:



Question Number : 130 Question Id : 4771873039 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What fraction of the Earth's fresh water iz available in the form of ice and
snow?

— o —

o [ N S | >, " N —n L I R p— vy T
q.«ﬂ.‘a.l..-ﬂ;.. e b "\.'E P b 2 Ll'l&b xwlalmy iic_ Codid S0l S Tadd Lad h.r-m"u‘.-w&n‘_\_,_ Lﬂp.uw?
[ 2 =t :

tl

Options :

o |

G| b



Question Number : 131 Question Id : 4771873040 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding renewable and non-renewable energy

SOUrCes.

— Tt = I S R e [ - T, ! — —— —.. - o e T - - P R - [ - RS -
NOEDALEIER eI, nocrEDIORNT "ol Tenedng TbEs Z0oimT =e¥Tohime

Options :

1. ®
2. %
3. %

4. ¢

Renewable energy sources are always more efficient than

non-renewable sources In energy conversion.

Non-renewable energy sources are infinite and can be replenished
naturally within a short time span.

"-\:: Eﬁ:ﬁ.ﬁ'ﬂﬁ ?33: a_'a;u?-""i%"' dmuﬁwaﬁﬁ Eu\.-v &-%«.‘h dﬁ@ e ::.-'m ::U?Jﬁ?Eauﬁ

g g il gl
w.«u-«z:&'?ufﬁﬁ-?‘l gl

Both renewable and non-renewable energy sources emit equal levels of

oreenhouse gases during energy production.

Renewable energy sources include solar, wind, and geothermal. while

non-renewable sources include coal. oil. and natural gas.

N, SRR e p— — ) — . — s il e -
NOFOALEITR 0T TRLng U0, T s ERInL w?ﬁﬂ, =50
— T PR S | R o 3, A [ - P TR - L. m, - —
RerEDATENG TRunsa_ E"umwl_,:_\.}u éU ) TS, N‘JNﬁFE Mo ReDm



Question Number : 132 Question Id : 4771873041 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following food items help in increasing the quantity of blood in
the human body?
8 E9NR OINE wXoU TEORMS SRES DeEnd,, TR E0nEs, SW,.I00 IT20L
Options :

Chips, soda, and white bread

1. % E =

Peanut bar, gingelly bar (Til), and eggs

-] Ty, T oy, = |- p— £ —, e, £ —
EE:;.-FQSW.'.“QQQW, 08 cnTaols (E;.c..-"'-:] oda, mmid nieh

] il B
2. ¥
Pickles, fried snacks, and candy
wuds, RF0l, B0T Sclnigs wss, 08
3. %

Instant noodles, coffee. and sugary drinks
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Question Number : 133 Question Id : 4771873042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1565, the five Bahamani Kingdoms joined together and defeated this

Vijayanagara ruler at Rakkasi Tangadi war

Options :
Achyuta Raya

9285, Too%k

1. #
Aliyva Rama Rava
YTOL TITTICE

2. ¥
Venkatapati Raya
FoTLIEE Tookh

3. %



Question Number : 134 Question Id : 4771873043 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following principal followers of Jainism. the Rashtrakuta rulers

were
W P 2 - s 2 gy, 0 . e — - - | - 1
ﬁﬂg ﬁ“m.—ﬁ Eghﬂu E_‘,av.:-.ﬂ EZ\;:;J&':‘.M_I:\?:UM’ U-_-Egl"ﬂ-rf&-& l.n.lu?unf:’\.-
; =

Options :
Chandra Gupta Il and Udayana

2 o L S L Eopn g ity
C'a':ln::'l. TEHE. I]: aﬁh-E = Eﬁuﬁﬂwz

1. #
Kharavela and Samprathi
28ew shidy, RoT;S

2. %
Hamundaraya and Kharavela
SomooBTa0h @hdh, HTHw

3. %

Amoghavarsha and Krishna IV

4. ¢



Question Number : 135 Question Id : 4771873044 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In 1956, the number of States and Union Territories created by the States

Reorganisation Commission

o — =
- — e gy T I
1956 oo TowaNY ...b-u.‘...-r"t WS ETe L:‘u‘-hriaﬁ o T A
1 T
-
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Options :

14 states and 6 Union Territories

14 Towsniss w8, 6 Fromy,BeE 03N
1. ¢

28 States and 9 Union Territories

Cots:ngs =03, 9 Seorn, 392 2,053

28_._.m t_no.- _-_-_93 _-:Jﬂlcﬂ.?l__lfl_-q- -
2. %

18 States and 7 Union Territories

18 ooz niehs =S, 7 Seclmy,BOE =TeTnsh
3. %

it e -, - p— o o
29 o LegnTo TUEs, 8 Efﬂwyﬁf& IymtEnTs



Question Number : 136 Question Id : 4771873045 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following was NOT the Prime Minister of India between 1939 and
1991
& PRIRCI,, 22,05 1989 =hEy, 1991 © BE:E RT=EE &poichdd,,

Options :

LK Gujral

0.8, Mosy,*
. el
1. ¢
Deve Gowda
) bl g e
Vishwanath Prathap Smmgh
DI TSET Ao
3. ®
Morarj1 Desal
BRTORE Teao0k
4. &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.



Question Number : 137 Question Id : 4771873046 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is the aim of 4274 constitutional amendment of the Indian

Constitution

Options :

Making the Judiciary subservient to Parhament

1. ¢

Enactment of the Official Language Act

—_— 2. . e G .
=87 2 oaEr 720, oha, bR digch

Dt — ., — PR N R N SR | . - —
iﬁwmy M.-'-.EJE'.I\E\E [==0= W] 'I"f‘ E&:&uum 3UH%WH

a2

Strengthening the State Government vis a vis the Central Government

— D o — T m— s — o — — — e
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Question Number : 138 Question Id : 4771873047 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ravi 1s travelling from New York to New Delhi by Aeroplane. Then Rawn
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3
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o
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- T B
[olab] WHALL_M{ Tor Ol role

Options :
loses time of 4 minutes as he crosses every longitude

_— 2 e — o — T T e ) el e e S o, m—
3-':/'»3 el ety WLEMHEH{H 4 '\JMZ&H%" Na:\.ﬂ.ﬂ"u.lfuu:t Ef:"w-uﬁ-rfiﬁ."uﬁ&&fu

gains time of 4 minutes as he crosses every longitude
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E-':-/& b.JfauJ. :::“‘wﬁ.lun_ WLEMHEHLH 4 NM&HT‘ (o P A TR H‘T"Nv\ﬂ-a,f\a

2.¥

neither gains nor loses the time
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Question Number : 139 Question Id : 4771873048 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau

= TRrFE J

2 2 P . L1 . O 1 e . 3 —
Teeansh BE. T T8 PRt Feir Bodingse, Cedad.®
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Options :

The Satpura Range

>
- —
T30 .0 IZ,e07

1. #

The Mahadev, the Kaimur range and a portion of Maikal Range

| — - | A
o — - o — o —
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Question Number : 140 Question Id : 4771873049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India, the major tea producing region among the following is

o . 3 - = -]

o, e s et P W R — i — At e ) e
D T=-Tw T =1 'ﬂ‘—’.-h %;’1‘—'.- e == L BT R ﬂuwu
1y ol

Options :
The hilly regions of Assam

S5 _om Mok . MoEs &,0e3ngs
fa] o =

1. ¢
The Baba Budan Hilly Region
LT 2oEst ey, shaoied
e ) [ T WW&; e-:,wu:-'
2. ®
The Nilgiris in Karnataka, Kerala and Tamil Nadu
FRords, ScUY oS, SLoTiRBR ArondnTs
3. %

4, %



Question Number : 141 Question Id : 4771873050 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of Integrated Watershed Management Programme in

drought prone areas is to

ST - Gy [ R [ PR P N R p— S P e e p— ST e — R T - O - |
WhwLrias ERaNT0 | RN, LODRNCIHN viaFeies To050F Ew.-w Eooodldy BN . E3ea0Ta0

Options :

Strengthen the community and enable them to plan for proper

utilisation of natural resgurces

1. ¢
Provide water to drought prone areas continuously
L0 eRE Re3nen L0E0maN el WBNRITYTIS
2. %
Undertake plantation in large scale
DR, ZEnnnd,, SekimbE &, frv, mn:
3. %

Encourage the farmers to undertake community farming
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Question Number : 142 Question Id : 4771873051 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bhakta Prahalada, the first talkie movie which was released in 1931 was
produced by
1931 ©d,., RENECIIE BARY TS ¥, TR0 Busy, VNFARST

Options :

Raghupathi Venkaiah Naidu

1. ®
Edida Nageswara Rao
LHBT T3 © Towt
2. ®
Hanumappa Muniappa Redd;
BRUTHT, FooAchT , 38,
3. ¢
M.V.Raghu

s 8y Oehs
BD G| B



Question Number : 143 Question Id : 4771873052 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To spread awareness among daliths by using Popular Folk Arts. Bhagva Reddy

Varma started

Options :

Adi Hindu Society

1. ®
Jagan Mitra Mandalh
wWRT Q8 ToRe

2.
Satya Shodak Samaj
3T; SaE TR

3. %

Sharada Sadan

¢
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Question Number : 144 Question Id : 4771873053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This amendment made to the Indian Constitution says that “the state shall

provide free and compulsorv Education to all children between the ages 6 and 14

years
o Y p— -t — - 2 - L P = =2
Po0deoh ReDTIRE, TRRoIE o ST BAWN 6 0on 14 mRFELTAS aoe., mE,on
Moo =t omonles s mr. e e T Eeosia Rt L T ]
(Y :u-e., L AT MEE Eu&-a.q-.d\.u aME‘Ea«,m%_ (TN NL,_':-J B v bl l:l:-\‘r‘\.--Er_._w,
Options

61%% Amendment

61 Re S =8

4274 Amendment

42 3c ST Ta

2. &
$6t° Amendment
3 86 =c dm =&

10224 Amendment

102 B¢ ST =6



Question Number : 145 Question Id : 4771873054 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
During a science lesson. Ms. Patel asks her students to work in small groups to

conduct an experiment and discuss their observations. Which type of learning

Interaction is primarily being emphasized in this activity?

Options :

Student—Content Interaction

Student—Teacher Interaction
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Student—Student Interaction
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Question Number : 146 Question Id : 4771873055 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1z least relevant when evaluating the effectiveness of a

sclence period plan at the primary level?
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Options :
Motivation of students in the teaching-learning process
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Effectiveness of assessment methods



Question Number : 147 Question Id : 4771873056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An EVS teacher, Kalpana, always encourages her students to decide the final

result not with a single observation, but after making several observations.

This 1s called:

el 3:'3 o — g — — R T 5 ] - o - T =J,.;.r — —
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Options :
Inferencing
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Classification

Prediction
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Questioning
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Question Number : 148 Question Id : 4771873057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the NCF-2003, the following are to be taught in Environmental Studies

at Primary Stage

B) Poverty

S
EEN

C) Child Labour

LCE]

R BELFE B0

D) Illiteracy

~
-

BTETE
E) Caste and Class equalities
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Choose the correct one
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Options :

A B.C.D.E
1. %
A.B.C.Donly
A, B,C. D =g,
2.¥

A B.C.Eonly
A.B.C. E&»3

A.C.Eonly
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Question Number : 149 Question Id : 4771873058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The lesson — “Child Rights” — was developed based on the following theme in

Environmental Studies
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Question Number : 150 Question Id : 4771873059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following activity will NOT help the teacher to create the effective

EVS (Environmental Studies) clazsroom environment

Options :
Discuss in groups

>

<y e 033
MocTHneal_ wdrd

1. ®
Think and Say
cimrtdd Thds, =69
2. %
Collect and Record the information (Tables)
mRkichvs, Romdd R8s, LIA (R, Brvh)
3. %

Reading the bogks
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